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Quadratic models

Quadratic Models

- graph 1s a curve U m

- curve is called a parabola
- equation is in the form of  y=ax’+bx+c

ex. y=3x"+5x-8

- equation must have an x’
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Quadratic Models
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Lcne of best ‘(_‘,._4—

Fitting Regression Models o Data
We can use quadratic regression to model data that zppear to relate m this way.
* The regression lime or curve can be fitted to the datz pomts and used for analysis

and to make D"'C’O(I.C,h.oy\s

» The closer the'line or curve is to the data points, the more the
predictions are likely to be. C\CCWUrOoC F‘f,

The followmg table shows the height of sparks from fweworks fymg through the sky at
vartous horizontzl distances from the startmg locztion.

Distance (m) | 5 10 15 20| 25| 30

Height(m) | 42 | 75 | o7 | 108 | 108 | 100

Detn ¥ Stafs Menu

*[Jsimng a graphimg caleulator: A <z e—

2) Determime the equation ¢f the parabola of best fit SSy
nNeW Aocu ™M dOC “ Re hO"\
Lists and s. ' Quadrafc
IBEEEE el - I -1 EE]

#* astance® height = "

15 o % - o ] T

-:I : 60 8 ™ OX

30 100 45 ] 454 y o o0 HEATE kT8 AR e T

[ ] : i 8 12 16 20 24 2 3 4 8 1'2[45411 0 24 3 3
e : ' CI.ISIHH:E ¢ dizignce

cRsterming the maximum of the regression curve. What does it represent?

(23,110)

The maximum of the curve is

This means that the maximum height that the sparks reachad is /’ Om
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Examples:

State if the functions are linear, quadratic or neither.

=5+ 28D gua LrohC

y—5x—2 ‘\V\W j I’Y\X“/'b
y=(+3)(x-7) —b> ,\¢©—f3 x-7x 2l
/I;\o\ d_ra_ N

y=4 nei%gr —DexPOhU\Jﬁ“‘
y=9—2x’ eneot

y-3xf+x 1 peither

On which graph does the point (2,3) lie?

y=x"-5x+11 or y=x’-6x+11

Sub in Z g
C;\eg”’K both sideS .
3 2 o7-5(2) 113 =2 -6)l
3 __4/|O—f—({ 3 =4 -2+

3 #£5 3=3

<. not on lin€ L on +he line
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